{. Solubility Equilibrio.
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5. Foetors That Affect Salubility, (of ionie. compounds)

A. Common - ton EPRect - The solubility of o slr%mﬂc{ soluble
salt is decreased by the presencey of 0 2nd solute with
A common ioN.
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& (15) A saduroted solution of MQOH)2 in contact with undissolued
solid is prepared at 25°C. The pH of He solution 1S 10.17.
Assuming MQ(oH )z eompletely ionizes. calevlote Ksp-
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X UL) Tru Ksp of Lafz is 2 x107'% Lonat is the solubility of
Waf3 in woter in mol/L
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B. Solubility and pH

- 14 o substonce. has o. hasic anion, it will he more.
soluhle inon acidic solution

v substanas with acidie. eations are. more soluhle
In asic solution S
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